Fall 2004

Econ 101
Answers to Practice Questions 1
1. Give the slope and the x and y intercepts of the following lines:

a. y=4x-2


This is standard y=mx+b format, where slope is m, the y-intercept is b, and the x-intercept is –b/m.  Hence the slope is 4, the y-intercept is -2, and the x-intercept is ½. 
b. y/4+1/2=x

Just rearranged:  slope is 4.  y-intercept is -2, and the x-intercept is ½.
a. 2y+3=4x


Divide by 2 to get y=2x - 3/2.  Now it’s standard.  Slope is 2, y intercept is -3/2 and the x-intercept is ¾.
c. y=x


This is the 45 degree line.  Slope is 1, x and y intercepts are 0.
2. The solution for each set of equations:
a. x=1/4, y=-1. 

b. x=2/3, y=2/3.

c. x=-7, y=-12.

3. Refer to the graph in the question sheet.
a. y-intercept is 10, x-intercept is 5.
b. Y=x/2+4. C=(2.4, 4.2) where 2.4 is the x coordinate and 5.2 is the y coordinate. 
c. Y=x+1.  A=(3, 4) where 3 is the x coordinate and 4 is the y coordinate.

a.
If both tasks are divided equally, it will take 11 hours for the calculations and 15 hours for the writing, for a total of 26 hours.


b.
If Misuzu specializes in calculating and Daniel specializes in preparing slides, it will take 22 hours to complete the project.


c.
If Misuzu specializes in calculating, her opportunity cost will be $60; hence, Misuzu would be better off if she paid Daniel any amount less than $60 to do the calculating. Since Daniel’s opportunity cost of doing the calculations is only $50, he would be better off if Misuzu paid him between $50 and $60 dollars to do the calculations. In this case, the total time spent on the project would be 20 hours.
4. PPF for Japan is a negatively sloped line where the vertical intercept is 15 and the horizontal intercept is 60.  Likewise, the PPF for U.S. is a negatively sloped line where the vertical intercept is 16 and the horizontal intercept is 48. 
5. The opportunity cost of 1 car for U.S. is 1/3 helicopter. The opportunity cost of 1 helicopter for U.S. is 3 cars.  The opportunity cost of 1 car for Japan is 1/4 helicopter. The opportunity cost of 1 helicopter for Japan is 4 cars.

6. Japan has comparative advantage in producing cars.  U.S. comparative advantage in producing helicopters.

7. Japan has absolute advantage in producing cars.  U.S. absolute advantage in producing helicopters.

